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(1) TLEEER R
R B A)

4 g 21 22 23 24 | 25

“ - 325, 525 339, 356 313,011 338, 843 351,788
S S fif 30, 640 29, 647 27,372 32,372 28, 952
E22 = &= fi 23, 564 19, 612 21, 969 23,122 28, 949
i I = it 4,537 4, 930 4, 880 5,174 2,733
X i &= fif 13,831 17,813 21, 093 23, 790 22, 889
172 n = i 51,423 46, 254 39, 719 43, 458 52, 547
ES JI & i 17, 429 26, 240 25, 441 27, 542 28,619
Ll H = it 26, 291 26, 899 24, 322 25, 909 28, 682
' O+ A & 31, 849 29, 857 31, 185 33, 097 34, 042
& B = it 38, 430 55, 345 38, 276 37,729 34, 197
RF O, BB 14, 827 11,873 12,735 12, 534 13, 447
® W O & fF 72, 704 70, 886 66, 019 74,116 76, 731
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(2) Z DO BE R OF KDL
CFEE - BT A)

4 i 21 | 22 23 24 | 25

23 - 8,938 1,659 6,273 6, 059 5,326
i %) £ 261 262 276 269 309
w b ARom R
WO T B B 308 265 147 220 241
woE R 3 % 8, 369 7,132 5, 850 5, 570 4,776

B AR B, AN R

(3) MR & —FIHRN
(FFEBE - WAL )

4 g 21 22 23 24 | 25
PN = i = 195 179 186 276 216
ZE (M- o) 419 446 398 375 484
i3 # = 313 294 301 356 295
n = 184 209 331 183 213
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(4) o7 TR o 2 —FI R
(R - BT )

4, i | 21 22 23 24 | 25

G 1 ¥ = 204 219 218 180 164
5 2 S 205 232 208 168 176
G 3 ¥ = 268 215 226 200 177
Ny =2y = 98 61 45 — —
n = 328 271 240 158 140
o= 7 n = 260 193 196 216 271
Al 1 = 115 199 182 190 176
1% G = 443 434 398 497 450
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